1/0d/ d N dp™" [1GeV]

Ratio to ATLAS

T
H

o )
N N

|
o
@

[EEN
<
IN

107

0.5

~t
1

13000 GeV pp
I I I |

| I I | I I | I ! I | 4@
|| 1<
_ P2 (ATLAS semileptonic ttbar) =3
= T =
— =
— 1O
- 1o
B ) A\l
=y -
- \ -
SN 12
\h 40_5
- — -2
— AN =k
- | AT .
T O Pytia6.428 350 i
= ae Pythia 6. 228,351 k)
= v Pythia 6.428 352+, 1%
- A Pythia 6.428 353 i?*}.,\\ BES
=~ --0-- Pythia 6.428 354 RN =9
= % Pythia 6.428 355 - 142
IR - Pythia 6.428 356 -G
L Pythia 6.428 357 =05
= Pythia 6.428 358 &l
~ =~ Pythia 6.428 359 18
)
| 0o
= = el
— e
| | | | | | | | | | | | | | I =
:l T T T | T T | T T | T T T |:
= =2
T A :
B %,”'Qfﬁhfffﬁﬁfﬁﬁﬁﬁﬁi;fg 11
| m’/ \y} ______________ —]
s T % _
L —0.5
| 1 1 1 | 1 1 | 1 1 | 1 1 1 |
0 200 400 600 N‘ets 800



	Contents
	Page 1


